## Middleton Brown, L.L.C.

417 Pickering St. Houston, Texas 77091 Phone: 713-694-2020 Fax: 713-692-2618

Email: dcallaway@MiddletonBrown.net

www.MiddletonBrown.net

## PO 188476 DMS AGENDA REC 580724 MIDDLETON BROWN, LLC Engineers Consultants

Invoice

Invoice No:

202125

Date:

5/10/2021

Ship Via

Terms: Due Date: Net 30 6/9/2021

Order No:

Bill To:

Ship To:

Ft. Bend County 301 Jackson Street Richmond, Texas 77469

Ship Date

Tracking No

FOB

5/19/2021 <shipvia>

<tracking number>

<shipping\_fob>

Code	Description	Qty/Hours	Rate	Amount
	April Inspection Services for Katy-Flewellen-GAston Expansion and Bryan Road			*
INSP III	Week of 03/29/21 to 04/04/21 - 35 Hours	35.00	\$78.40	\$2,744.00*
INSP III	Week of 04/05/21 to 04/11/21 - 46.5 Hours			*
	40 Regular Hours	40.00	\$78.40	\$3,136.00*
	6.5 Overtime Hours	6.50	\$117.60	\$764.40*
INSP III	Week of 04/12/21 to 04/18/21 - 40 Hours	40.00	\$78.40	\$3,136.00*
INSP III	Week of 04/19/21 to 04/25/21- 44 Hours			*
	40 Regular Hours	40.00	\$78.40	\$3,136.00*
	4 Overtime Hours	4.00	\$117.60	\$470.40*
INSP III	Week of 04/26/21 to 05/02/21 - 38 Hours	38.00	\$78.40	\$2,979.20*

\* Indicates non-taxable item

Subtotal

\$16,366.00

Tax (0.00%)

\$0.00

Shipping

\$0.00

Total

\$16,366.00

hear John 6/7/2021

Name :	Jim Pitts - Inspector V MIDDLETON BROW									
Project:	FT. Mobilty Bond Project									
Pay Period	Engineers v consultant									
Date	Day	Project	Time In	Lunch Starts	Lunch Ends	Time Out	Total Hou			
3/29/2021	Mon	KF-G	7:00 AM	12:00 PM	12:30 PM	2:30 PM	7			
	Mon	Bryan			2:30 PM	6:30 PM	4			
3/30/2021	Tue	KF-G	7:30 AM	12:00 PM	12:30 PM	4:00 PM	8			
	Tue	Bryan								
3/31/2021	Wed	KF-G	7:30 AM	12:00 PM	12:30 PM	4:00 PM	8			
	Wed	Bryan								
4/1/2021	Thur	KF-G	7:30 AM	12:00 PM	12:30 PM	4:00 PM	8			
	Thur	Bryan								
4/2/2021	Fri	KF-G								
	Fri	Byran								
4/3/2021	Sat	KF-G								
	🎉 Sat	Bryan								
4/4/2021	Sun	KF-G								
	Sun	Bryan			,					
Summary	Hours					Sub-Total Earnings	Total			
Regular Hours Tota	35	Rate	\$32.00			\$1,120.00	\$1,120.00			
O/T Hours Total	0	Rate	\$46.50			\$0.00	\$0.00			
lim Ditts Middleton	Brown Inc	nestor:		Λ	Total Gro	ss Earnings	\$1,120.00			
Jim Pitts- Middletor Donna Callaway - N			Mduain atuat	or/ WAYU	,					

Time Sheet	In an		— IV	MIDI	METON	RPOWN	LIIC				
Name :	Jim Pitts - Inspector MIDDLETON BROWN,										
Project:	FT. Mobilty Bond Project Engineers ♦ Consultant										
Pay Period	04/05/21 to 04/11/21										
Date	Day	Project	Time In		Lunch Ends		Total Hou				
4/5/2021	Mon	KF-G	7:00 AM	12:00 PM	12:30 PM	5:00 PM	9.5				
	Mon	Bryan									
4/6/2021	Tue	KF-G	7:00 AM	12:00 PM	12:30 PM	5:00 PM	9.5				
	Tue	Bryan									
4/7/2021	Wed	KF-G	7:30 AM	12:00 PM	12:30 PM	5:00 PM	9				
	Wed	Bryan									
4/8/2021	Thur	KF-G	7:00 AM	12:00 PM	12:30 PM	5:00 PM	9.5				
	Thur	Bryan									
4/9/2021	Fri	KF-G	7:30 AM	12:00 PM	12:00 PM	5:00 PM	9				
	Fri	Bryan									
4/10/2021	Sat	KF-G									
	Sat	Bryan									
4/11/2021	Sun	KF-G									
	Sun	Bryan			_						
						Sub-Total					
Summary	Hours					Earnings	Total				
Regular Hours Tota	40	Rate	\$32.00			\$1,280.00	\$1,280.00				
O/T Hours Total	6.5	Rate	\$48.00			\$312.00	\$312.00				
		W		Λ	Total Gro	ss Earnings	\$1,592.00				
Jim Pitts- Middletor	n Brown - Ins	pector:		11/	/						
Donna Callaway - N	liddleton Bro	wn -Project	Adminstrat	or:///							

Name :	Jim Pitts - Ins	pector	— V Middleton Brown, Llc							
Project:	FT. Mobilty E	ond Project	· v	Engineers • Consultants						
Pay Period	04/12/21 to	04/18/21			J					
Date	Day	Project	Time In	Lunch Starts	Lunch Ends	Time Out	<b>Total Hours</b>			
4/12/2021	Mon	KF-G	7:00 AM	12:00 PM	12:30 PM	5:00 PM	9.5			
	Mon									
4/13/2021	Tue	KF-G	7:00 AM	12:00 PM	12:30 PM	4:30 PM	9			
	Tue									
4/14/2021	Wed	KF-G	7:00 AM	12:00 PM	12:30 PM	4:00 PM	8.5			
	Wed									
4/15/2021	Thur	KF-G	7:00 AM	12:00 PM	12:30 PM	3:30 PM	8			
	Thur									
4/16/2021	Fri	KF-G	7:00 AM	12:00 PM			5			
	Fri									
4/17/2021	Sat	KF-G								
	Sat									
4/18/2021	Sun	KF-G								
	Sun									
		76.5				Sub-Total				
Summary	Hours					Earnings	Total			
Regular Hours Tota	40	Rate	\$32.00			\$1,280.00	\$1,280.00			
O/T Hours Total	0	Rate	\$48.00			\$0.00	\$0.00			
		P								
			V		Total Gro	ss Earnings	\$1,280.00			
Jim Pitts- Middletor	n Brown - Insp Iiddleton Bro	ector:		/ //						

	M		2	0	0	
Ti				C	C	L

Name : Jim Pitts - Inspector

Project: FT. Mobilty Bond Project

Pay Period 04/19/21 to 04/25/21

MIDDLETON BROWN, LLC Engineers • Consultants

Date	Day	Project	Time In	Lunch Starts	<b>Lunch Ends</b>	Time Out	Total Hours
4/19/2021	Mon	KF-G	7:00 AM	12:00 PM	12:30 PM	4:00 PM	8.5
	Mon						
4/20/2021	Tue	KF-G	7:00 AM	12:00 PM	12:30 PM	4:30 PM	9
	Tue						
4/21/2021	Wed	KF-G	8:30 AM	12:00 PM	12:30 PM	5:30 PM	10
	Wed	Sims	7:00 AM	8:30 AM			
4/22/2021	Thur	KF-G	7:30 AM	12:00 PM	12:30 PM	6:00 PM	10
	Thur						
4/23/2021	Fri	KF-G	7:00 AM	12:00 PM	12:30 PM	2:00 PM	6.5
	Fri						
4/24/2021	Sat	KF-G	, , , , , , , , , , , , , , , , , , ,				
	Sat		e.	>			
4/25/2021	Sun	KF-G					
	Sun						
						Sub-Total	8.4
Summary	Hours					Earnings	Total
Regular Hours Tota	40	Rate	\$31.00			\$1,240.00	\$1,240.00
O/T Hours Total	4	Rate	\$46.50			\$186.00	\$186.00
		1			Total Gro	ss Earnings	\$1,426.00

Jim Pitts- Middleton Brown - Inspector:

Donna Callaway - Middleton Brown - Project Adminstrator:

Lee Shelton, P.E. - KCI - Sr. Project Manager

<b>Time Sheet</b>				AT.							
Name :	Jim Pitts - Inspector V MIDDLETON BROWN,										
Project:	FT. Mobilty	FT. Mobilty Bond Project  On (26/21 to 05/03/21  Engineers  Consultants									
Pay Period	04/26/21 to	05/02/21		D i	engineers	<b>V</b> Consuita	nts				
Date	Day	Project	Time In	Lunch Starts	Lunch Ends	Time Out	Total Hours				
4/26/2021	Mon	KF-G	7:00 AM	12:00 PM	12:30 PM	2:00 PM	6.5				
Pl.	Mon	Sims			2:00 PM	4:00 PM	2				
4/27/2021	Tue	KF-G	7:00 AM	10:30 AM	2		3.5				
	Tue	Sims	10:30 AM	12:00 PM	12:30 PM	4:30 PM	5.5				
4/28/2021	Wed	KF-G	7:00 AM	11:30 AM			4.5				
	Wed	Sims			12:00 PM	4:00 PM	4				
4/29/2021	Thur	KF-G	7:00 AM	12:00 PM			5				
	Thur	Sims			12:30 PM	4:30 PM	4				
4/30/2021	Fri	KF-G	8:30 AM	10:00 AM			1.5				
	Fri	Sims	7:00 AM	8:30 AM			1.5				
5/1/2021	Sat	KF-G									
	Sat	Sims									
5/2/2021	Sun	KF-G									
	Sun										
Summary	Hours					Sub-Total Earnings	Total				
Regular Hours Tota	38	Rate	\$32.00			\$1,216.00	\$1,216.00				
O/T Hours Total	0	Rate	\$48.00			\$0.00	\$0.00				
Jim Pitts- Middleto	n Brown - Inc	nector	)		Total Gro	ss Earnings	\$1,216.00				
			Adminstrate	- Wall							
Donna Callaway - N Lee Shelton, P.E K			Auminstrato	7. 11.	Shelter		***************************************				